Details of the calculations
f(u|x,o,fo(p) = k) Hexp[
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Details of the calculations

f(u|x,o,fo(p) = k) Hexp[
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Details of the calculations
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Details of the calculations

f(u|x, o, folp) = k) o HGXP[ (xi —p )2]

2(7
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Details of the calculations

f(u|x, o, fop) = k) o HGXP[ (X2—U )2]
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X exp|—=

1 1/0? X? Xj | 1 | 5
x e 2'%1%?'@0’2 (Za)“(za;% }
X exp ;-<21/0?>-(><22xu+u2)

© GdA, RM25-14 20/02/25  13/58




Details of the calculations

f(u|x, o, fop) = k) o HGXP[ (Xz—a )2]
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Details of the calculations
f(p|x,o,fo(p) =k) Hexp[
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o exp —Z( 205)}
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Inferring 1 from n ‘independent’ measurements

—27,u—|-,u2]
20'2C

f(p|x,a,fo(n) =k) oc exp [_
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Inferring 1 from n ‘independent’ measurements

22X+ p?
Flulx o folpn) = k) o exp|———F— ]
9c
X2 — 2X p + p?
X exp |— P
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Inferring 1 from n ‘independent’ measurements

s 5
f(n]x,0,fo(n) = k) o< exp |- XN;M]
20¢
72—27u+u2]
X exp |— 5
20¢
- 2)\2
x oxp | ;)]
| 20¢
(having used the technique of complementing the exponential)
with
2 Xi/UiQ
B Zil/gi2
2 - > Xi /o7
E:il/g?
0% = !
¢ Zil/(fi2
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